EARAROBEEIERT — 2 N— IBISH —F

2016128168 (£) 11EUIB5H

LRM Y 2R3 8 76K

(xwlw | lmEmml - v @) o s

[A~&£] 1 7% :1,000,000  ~ 23 :300,000d 373 :180,000 "

4 7% 120,000 . 5 3& : 100,000 M

B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. BRARS = :35. 21— . — EER (K3
1 6 E % 3 i 1(3_5)8 2-2-1-2 | 42.7 3 (5_262) E%l
R:TUVYARIL R B:xq42 /938y (1T /3
R : P r - 8| — ZitRE (Il
2 2| 77IN—=F >R R ) 1(7351:? e ! 2)7% IR
RHIRTTTR Biyq P INRA -7 )45
. 4 3 | FHEE 1:36.2 6-6-4-3 | 42.8| — 1 480 | =BRAE— (1)
3 4| Fv b=l 56.0 (1 1/2) © () J PN
R:TIRATFIZI B:ZX—ILRKeoh/y &= %2
. s B . 45— — AIRAZRE (KH)
418110 BAAF TS 4 3 T 1.(357).3 3-4-5-6 | 43.7 9 12(1);3 e
L:€rs0704 BidrUTL LT a (B) HAa-KRL—Ya>AETI7
R . ft 3 | RES 1:37.4 8-7-6-5 |43.5| — 7 500 | Hilssats (/1)
5/7/7|/77>TL1> 54.0 (1/2) (1) |TorEEEL
R:Y=Z24—-3=224— BT7ARAE21—T1— BNEHRS
S #1138 :38. -3-3- . - Lis#as (J111E)
6l8lg F—YRLELT 4 — 4 3 L 1(33!'3)0 3-3-3-4 | 44.7 2 (4+326) bk
RiprN=— B:ILN-FJZR MRt IUFCTr—L
= 4% 3 | HTHER 1:38.0 5-5-7-8 |43.9| — 8 453 | R=5 (JIF)
7|5|5|#H7*AA 54.0 (75%) o) |ERER
R:grp—3U7> B:KR-—F R/ E77—L4L
NSRS 4 3 | BOLE 1:38.5 7-8-7-7 |44.2| — 6 437 | FEHE— (JI[I&)
gl11|NVAT7ZEY b 54.0 21/2) (o) | ) BEERE
R:TSvI84 K B:AJLT Y29 v A LS
s At —1t 140, -9-10- . — R IT))
9 3 Jya—vy34,7 % 3 o 1(490)4 9-9-10-10 | 45.4 5 (535) Ao
Y LZA4N—b B:T7INR— A REE
; 4 3 | BEBA 1:40.9 10-10-9-9 | 46.3 | — 10 | 456 | EBESE (18
1017 8 ht/F— 56.0 2 1/2) (+15) | BETEE
LR TA MR BiA-Trirvt B/E77— L
® 1—F—@EBIERL
1J3—74+— 2,6,(9,10),5,4,1,7,3,8
2d—F— 2,6,9,10,5,4,7,1,3,8
== (2,6),9,4,10,7,(1,5),8,3
43—+ — 2,6,4,9,7,10,1,5,8,3
[ /N
B 6 420M 714K 2-6 420 e E 2-6 2,830 JEE 2-4-6 1,630
B B 6 1609 4-6 260M e B 6-2 4,860 JEE 6-2-4 13,160H
2 210M 2-4 520M B & 2-6 2,600
4 110M B H 6-2 4,280

ABICOVWTRDTEEERROODE. TR LIV,




